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Note:	Answers	will	be	posted	on	yellow	submariner.	

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________	

2.	 For	what	range	of	values	of	elasticity	is	demand	said	to	be	elastic?	For	what	
range	is	it	inelastic?	 	 	 	 	 	 	 	 	 	 	 	 	 	 (3	marks)	

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________	

	

3.	What	is	this	cartoon	trying	to	say	with	a	link	to	

PED?		 	 	 	 	 	 	 	 		(1	mark)	

_________________________________________________________

_________________________________________________________

_________________________________________________________

_________________________________________________________

_________________________________________________________

_________________________________________________________

_________________________________________________________

_________________________________________________________

________________________________________________________________________________________________	

    Webnote 257 Syllabus Ref: 2. 5 + 2.6 
Syllabus Items: 18-25 

 
% change in 
Qd/ % 
change in P 

E > 1 = 
elastic 
 
E < 1 = 
inelastic 

...but he will because Ped is inelastic at least in the short run. 

1.		Define	the	term	“price	elasticity	of	demand.”	 	 	 	 	 	 	 (4	marks)	
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4.	 The	New	Millennium	Dome	Company	(NMDC)	must	choose	the	entry	fee	for	a	
new	sports	arena.	Suppose	an	expensive	consultancy	firm	has	estimated	the	
demand	schedule	to	be	as	follows:	

Price	of	ticket	

(dollars)	

Visitors		

(millions)	

36	 10	

30	 15	

24	 20	

18	 25	

12	 30	

		6	 35	

	
	
Refer	to	the	table	above	table:	

4a)	Compute	the	price	elasticity	of	demand	for	the	range	P	=	$30	to	P	=	$24	
and	for	the	range	P	=	$18	to	P	=	$12.	(Write	formula	and	show	working)		

			 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 				(5	marks)	
	

	

	

	

	

	

	 4b)	The	current	admission	price	is	$18.	If	NMDC	wants	to	increase	its	total	
revenue,	should	it	charge	a	lower	or	higher	price?	 	 	 	 	 				(5	marks)	

______________________________________________________________________________________________

______________________________________________________________________________________________

______________________________________________________________________________________________

______________________________________________________________________________________________	

	

                   Price 
30 to 24 ans = - 1.67 
 
Price 
18 to 12 ans = -0.6 
 

Price should 
increase 
TR @ 24 = 480 
 
TR @ 18 = 450 
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The	text	below	will	help	you	answer	question	5:	

The	price	elasticity	of	demand	is	a	measure	of	the	responsiveness	of	quantity	
demanded	to	changes	in	price.	Demand	for	a	product	or	service	is	more	responsive	
(that	is,	more	elastic)	as	the	number	and	closeness	of	substitutes	for	that	good	or	
service	rises,	and	as	the	importance	of	the	item	in	a	person’s	budget	increases.	
Suppose	a	seller	knows	that	some	customers	have	fewer	substitutes	(less	elastic	
demand)	than	others.	In	some	situations	the	seller	can	increase	his	or	her	profit	by	
charging	a	higher	price	to	those	customers	whose	demand	for	the	product	is	less	
elastic,	and	a	lower	price	to	those	with	more	elastic	demand.	With	this	result	in	mind,	
answer	the	following	questions:	

	
5a.	Why	do	airlines	charge	business	travelers	higher	prices	than	tourists?	(5	marks)	

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________

_______________________________________________________________________________________________	

	

5b.	Why	are	fuel	prices	higher	at	stations	located	on	motorways	than	those	off	the	
motorway?	 	 	 	 	 	 	 	 	 	 	 	 	 	 						(5	marks)	

____________________________________________________________________________________________

____________________________________________________________________________________________

____________________________________________________________________________________________

____________________________________________________________________________________________

____________________________________________________________________________________________

____________________________________________________________________________________________

___________________________________________________________________________________________	

 
Business 
travelers need 
to travel and 
PeD is often 
inelastic. 
 
Tourist travel is 
elastic with 
customers 
having a choice 
of when to 
travel. 

 
There is again a 
necessity and lack of 
choice and 
customers may have 
no choice but to pay 
the higher price as 
they need fuel. 
Leaving the 
motorway is often 
costly in terms of 
time lost on the 
journey so 
consumers elect/ 
decide to stay on the 
motorway. 
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Calculations	

	
6.	Calculate	the	price	elasticity	of	demand	in	each	of	the	following	examples:			
In	each	case	say	whether	the	price	elasticity	is	inelastic	or	elastic.		 	 (10	marks)			
	
a) *	The	change	in	demand	is	5%,	the	change	in	price	is	7%	
____________________________________________________________________________________________
____________________________________________________________________________________________	
	
b) *	The	change	in	demand	is	12%,	the	change	in	price	is	3%	
	
_____________________________________________________________________________________________
_____________________________________________________________________________________________	
	
c) *	The	change	in	demand	is	9%,	the	change	in	price	is	4%	
	
_____________________________________________________________________________________________
_____________________________________________________________________________________________	

				
d) *	The	change	in	demand	is	13%,	the	change	in	price	is	25%	
____________________________________________________________________________________________
____________________________________________________________________________________________	
	
e) *	The	change	in	demand	is	6%,	the	change	in	price	is	8%	
_____________________________________________________________________________________________
_____________________________________________________________________________________________	

	
	
	
	
	
	
	
	
	
	

inelastic 

inelastic 

inelastic 

elastic 

elastic 
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7.	Calculate	the	percentage	change	in	demand	in	each	of	the	following	cases:	
Where	appropriate	say	whether	the	good	is	a	normal	good	or	an	inferior	good,	or	
whether	it	is	a	substitute	or	complement.	 	 	 	 	 	 	 			 	 (10	marks)	
	
			a)	*	Yed	is	2.4	and	the	%	Δ	Y	is	5%	
			b)	*	Ped	is	-1.5	and	the	%	Δ	Price	of	good	y	is	
20%	
			c)	*	Ped	is	-0.6	and	the	%	Δ	P	is	18%	
			d)	*	Pes	is	1.2	and	the	%	Δ	P	is	6%	
			e)	*	Yed	is	-	3.1	and	the	%	Δ	Y	is	8%	
	
	
8.	Calculate	the	percentage	change	in	price	or	income	in	each	of	the	following	cases:	

(10	marks)	
	
			a)	*	Yed	is	1.7	and	the	%	ΔQ	is	2%	
			b)	*	Ped	is	-0.75	and	the	%	ΔQ	is	25%	
			c)	*	Pes	is	2.5	and	the	%	ΔQ	is	3%	
			d)	*	Yed	is	-0.35	and	the	%	ΔQ	is	3%	
			e)	*	Ped	is	1.6	and	the	%	ΔQ	is	4%	
	
9.		Say	whether	revenue	will	rise	or	fall	(or	stay	the	same)	in	each	of	the	following	
cases:	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 (8	marks)	

	
			a)	*	Ped	is	inelastic	and	a	firms	raises	its	price			
				b)*	Ped	is	elastic	and	a	firm	lowers	its	price	
			c)	*	Ped	is	elastic	and	a	firm	raises	its	price	
				d)*	Ped	is	-1.3	and	the	firm	raises	price	by	2%	

					
10.	With	the	use	of	example,	explain	the	
importance		of	YED	for	firms	and	for	LDC	(less	developed	country)	governments	
that	mostly	export	food	products.	 	 	 																										(	10	marks)	

 
 
 

A. 12% change in Q 
B. -30 complementary good 
C. -10.8 change in Q 
D. 7.2% change in Q 
E. -24.8% change in Q 

A. + 1.18 % change in P 
B. -33.3% change in P  
C. +1.2% change in P 
D. - 8.57 % change in Y  
E. +2.5 % change in P 

A. TR up 
B. TR up 
C. TR down 
D. TR down 

Firms: LDC (less developed country) firms will be limited by low YED because as incomes increase by, for example, 
20% then the amount demanded for their food produce will increase by less than 20% - probably by much less than 
20%. 
Government: LDC government will have problems with economic growth as the country is producing low price 
food commodities (relative to other manufactured/tertiary output) for export and revenue from exports will be low. 
 

 

 

 

 

Total Marks Available: 76 
 
Your Score:       /76 


